
The purpose of this lab was to determine the empirical formula of Magnesium Oxide. This was accomplished by using Stoichiometry. 

( If the surface of an object made from Magnesium is exposed to air, it reacts with the oxygen in air to form the compound Magnesium Oxide. 

(Magnesium Oxide serves as a protective layer that protects the remaining Magnesium from corrosion.

(Magnesium is lighter than other structural metals, yet still very strong.

During the laboratory we determined that the mass of magnesium oxide was 0.05, and that the mass of the magnesium was 0.03. Thus the mass of oxygen was 0.02.

The number of moles of magnesium was 0.0012343139. This was obtained by dividing the mass of magnesium by the atomic mass of magnesium (ie 24.3050).

The number of moles of oxygen was 0.0012500469. This was obtained by dividing the mass of oxygen by the atomic mass of oxygen (ie. 16).

Therefore the ratio of magnesium to oxygen is nearly 1 (ie 0.9874140) and thus the empirical formula is MgO.

I learned several things during the performance of the laboratory. Some of the sources of  possible error such as spillage, incorrect measurement, inaccurate scale, lack of attention to detail, and calculation mistakes can offset the results. I also learned how the use the mass-mass ratio and how to apply to real life situations. Safety precautions during this lab included using a filtering film lens to prevent eye damage. 

